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Q��$ ����, Ω .
��+� 3�� �*_ ���4� i� F ����� S�A�$

A ∈ F =⇒ Ac ∈ F , '�

An ∈ F , n ≥ � =⇒ ∪∞
n=�An ∈ F . '��
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�$ �F$�2 P ��� S�A�$ Ω 3��).
��+� ��6 ���2 N��A ����4� ���4� F � ���]>� 3�).
��+� Ω �4�( ��0
���:�$ ��6 NG� .� ��:� S��$ ����, ?���;� 3�R0 i� (Ω,F , P ) ���2 .� S�A�$ [�,�] ��$ � F .����

'�A�$

[�Z
P (Ω) = �,

S#��4� ���4� .$ t	F�� A ����� �R
 �� 3��$ [��Z
P (A) ≥ �,

⋃∞
i=�Ai .( 3��f .$ S��A�$ F #��4� ���4� .$ t	F�� � �9+� �� .$ ��A�, A�, A�, . . . .>�*�� ��� [���Z

���)#� S�A�$ #��4� ���4� �R
 94�
P
( ∞⋃

i=�
Ai

)
=

∞∑
i=�

P (Ai).
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&4��� �0��12 �45�� i� �� X : Ω −→ R C$�2 S�A�$ ?���;� 3�R0 i� (Ω,F , P ) ���2 .� �4�( ��0

&4A�$ .�A�� x ∈ R �� 3��$ ��� �=�2 � ���
{ω : ω ∈ Ω & X(ω) ≤ x} ∈ F .
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ε > � �� 3��$ ��� SW�� θ W$�p .$ N��( 3����� �0��12 3���45�� 6� {Xn, n ≥ �} .>�*��

∞∑
n=�

P{|Xn − θ| > ε} < ∞.
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SW������ X �0��12 �45�� .$ (a.s.) U4E� .$ l��: ��f).$ S�0��12 3���45�� 6� {Xn, n ≥ �} .>�*��
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P ({ω : Xn(ω) → X(ω) as n → ∞}) = �.
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'�&��( ) Sn =
∑n

i=�Xi � E(|Xi|) < ∞ �
Sn

n

a.s.−−→ μ n −→ ∞.

 q�A��U� I��4 -8-B-3 6��74
IA : Ω → {�,�} ���� �$ � W�� Ω 6� A ����� 3�).
��+���6 3)����( �]�� S{�,�} .$ Ω 6� �F$�2

��A)�� \��F2 J��G U�� .$ � ��A)�� ���� @����
IA(x) =

{� x ∈ A,

� x /∈ A.

 �V�$� O I��4 -3K-B-3 6��74
x → ∞ 3��$ ���)#� S��A�$ W*}� �E4E; ���
� 6� �F$��2 g(x) � f(x) �4�( ��0

f(x) = O
(
g(x)

)
,

x > x� .�� 3��$ .( )3��f ).$ S�A�$ .�A�� ��_� x� �E4E; ��
 � C ����� ��$�p ���E� ��� �=�2 � ���
&4A�$ .�A��

f(x) ≤ Cg(x).
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x → ∞ 3��$ ���)#� S��A�$ W*}� �E4E; ���
� 6� �F$��2 g(x) � f(x) �4�( ��0

f(x) = o
(
g(x)

)
,

��� �=�2 � ���
lim
x→∞

f(x)

g(x)
= �.
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S����� X �0��12 �45�� �$ b�	5� �0��12 ��f .$ �� �0��12 3���45�� 6� {Xni, i ≥ �, n ≥ �} .���� i�

x ≥ � �� 3��$ � �A�$ .�A�� ��_� )D W*}� W$�p �����

P [|Xni| > x] ≤ DP [D|X| > x].
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���:�$ ���2 ��6 u�A�� ����� S&4��� k�4	��2 3�).���� �� �E4E; ���
� 6� {ani, i ≥ �, n ≥ �} 3�F$ �� .����

��A�$

Qlimn→∞ ani = � &4A�$ .�A�� i ≥ � �� 3��$ [�Z

Q∑∞
i=� |ani| ≤ c &4A�$ .�A�� c W*}� W$�p � n ≥ � �� 3��$ [��Z

 rX�[� I��4 -3F-B-3 6��74
&4A�$ .�A�� α ∈ [�,�] � x, y ∈ R �� 3��$ ��� �=�2 � ��� S&4��� b�B� �� �E4E; ����E� �$ g C$�2

g(αx+ (�− α)y) ≤ αg(x) + (�− α)g(y).
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x�, . . . , xn ∈ R �� 3��$ ��� S��$ �����, (ND)�-�� .�/$�� X�, . . . , Xn, n ≥ � �0��12 3���45��
&4A�$ .�A��

P
( n⋂

i=�
{Xi ≤ xi}

)
≤

n∏
i=�

P (Xi ≤ xi),

�
P
( n⋂

i=�
{Xi > xi}

)
≤

n∏
i=�

P (Xi > xi).
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x, y �� 3�6� .$ ����� &4��� (NQD) �-�� �F$� .�/$�� �� X,Y �45�� ��

P [X ≤ x, Y ≤ y] ≤ P [X ≤ x]P [Y ≤ y]. [�Q�Z
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 w



H �-�� .�/$�� �0��12 3���45�� 7���� Q Q�

y � x �� 3�6�$ .( W0�� .+4�� #��2)�� "Q Q� \��F2 6� .( �4���� W:� .�
� U�� .$

P [X > x, Y > y] ≤ P [X > x]P [Y > y]. ["Q�Z

���6

P [X > x, Y > y] = �− P [X ≤ x �� Y ≤ y]

= �− P [X ≤ x]− P [Y ≤ y] + P [X ≤ x, Y ≤ y]

≤ �− P [X ≤ x]− P [Y ≤ y] + P [X ≤ x]P [Y ≤ y]

= (�− P [X ≤ x])(�− P [Y ≤ y]) = P [X > x]P [Y > y].

Q���/� ?��F� .D$�� �� U�� U���$��$ Q���� W�� .$ 6� ["Q�Z #��2)�� �� [�Q�Z .D$�� .$��� ��f .$
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�E4E; ���
� 3��$ ��� S&4��� (NUOD)  % �-�� ���F�� .�/$�� ��$ 6� �� X�, . . . , Xn �0��12 3���45��

&4A�$ .�A�� x�, . . . , xn
P (X� > x�, . . . , Xn > xn) ≤

n∏
i=�

P (Xi > xi),

��� S��$ �����, (NLOD)  !�-�� ���F�� .�/$�� U4��� 6� �
P (X� ≤ x�, . . . , Xn ≤ xn) ≤

n∏
i=�

P (Xi ≤ xi).

&� � NLOD &� ��� S&4��� (NOD) �-�� ���F�� .�/$�� �� X�, . . . , Xn �0��12 3���45�� W��=� ��
Q��A�$ NUOD

`�
F� .�/$�� �0��12 3���45�� #���
 �$ .�/$�� �0��12 3���45�� 6� 3���� 7���� �$ ����A� 3��$ )
�f�A ��D$ 3���45�� N��A .( .>�*�� �� �-�� .�/$�� �0��12 3���45�� � (RR�) rq �� ._�� 6� &T��
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% �2���E� \���F2 Q�

Uh��� � ��M��_ .>�E� .$ S���/� (NDS) r".>�*�� �� �-�� .�/$�� 3���45�� � (CDS) r�.>�*�� �� �>�9�
@]$ �� � &�6����)��4-�� 3���4� �0��12 3���45�� \��F2 .$ @]$ U�� #���� �� Q�4�( .F_��� [�!%�Z

Q&4�()�� ����$ �� ��)#� 3��)����� �F$

�0�� ���"*	 ��
�94 ��:�*;
�r [�!%�Q��/
� � ���Z -F-C-3 6��74
3�9+� .
��+���6 W-_ �� 3��$ ��� S&4��� (NA)�-�� 3���4� �� X�, · · · , Xk �0��12 3���45��

3�F$ �� �� f, g �>�9��� C$��2 � {�, · · · , k} 6� A�, A�

cov(f(Xi, i ∈ A�), g(Xj , j ∈ A�)) ≤ �.
Q�A�$ .�A�� ��_� �0��12 3���45�� 3��$ k�������( .( �2��G ��

�0�� ���"*	 �(�=�
 -D-C-3 6��74
3���4� #� ������ .>�*�� ��6 �� ��� S��$ ����, �-�� 3���4� �0��12 3���45�� 6� {Xn, n ≥ �} .>�*��

Q�A�$ �-��
rr�0�� ���"*	 ��
�94 �*;
� >
 -G-C-3 6��74

��:� S�A�$ ���:�$ ��6 3��)3��/��� 6� �
� ��� �=�2 � ��� ���/� �-�� 3���4� Y � X �0��12 3���45��
x, y ∈ R

P{X ≤ x, Y ≤ y} ≤ P{X ≤ x}P{Y ≤ y}, P{X ≤ x, Y < y} ≤ P{X ≤ x}P{Y < y},

�� �
P{X < x, Y ≤ y} ≤ P{X < x}P{Y ≤ y}, P{X < x, Y < y} ≤ P{X < x}P{Y < y}.
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QW�� ?��F� NA �$ NQD W4G�, S�0��12 �45�� �� �� 3��$
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! �-�� 3���4� �0��12 3���45�� 3��)����� QrQ�

�� 3�6� .$ ��� �=�2 � ��� ���/� NQD SY �X �0��12 �45�� ��| ��( W$�p �!!! ?�� �� ��4��
W4G�, #��� .4R: U�� u�A |Q�A�$ ���:�$ cov(f(X), g(Y )) ≤ � Sg �f ���]>� �>�9��� C$�2 ��
)NA �$ NQD W4G�, S�0��12 �45�� �� �� 3��$ k� QW�� �0��12 �45�� �� 3��$ �-�� 3���4�

Q��$ ����, ?��F�

&>
 ��\�> o
3���4� �0��12 3���45�� 6� 3�).
��+� 6� �9+� 3��).
��+���6 3�� �$ ��A \��F2 �>�9��� C$��2

Q��$ �����, �-�� 3���4� S�-��
xr,�, . . . , xr,mr .( �A�$ �F$ �� �� �>�9��� ���E� �E4E; C$��2 fr(xr,�, . . . , xr,mr) �4�(��0 '#���$
r = 3��$ Xr,�, . . . , Xr,mr �4�( ��0 U4�h�� Sm�, . . . ,mn ∈ N � ���/� �E4E; ����E�
��Y
 .$ Q��A�$ �-�� 3���4� �0��12 3���45�� 6� .
��+� i� 6� �9+� 3��).
��+���6 �, . . . , n

Q��A�$ �>�9��� �F$��2 g�f

���4�$ �T��� �� g′ � f ′ l(�� C$��2
f ′(x�,�, . . . , xk,mk

) = f
(
f�(x�,�, . . . , x�,r�), . . . fk(xk,�, . . . , xk,rk)

)

�
g′(xk+�,�, . . . , xn,mn) = g

(
fk+�(xk+�,�, . . . , xk+�,mk+�), . . . fn(xn,�, . . . , xn,mn)

)

��� k� QW�� 3��FG S3��FG C$��2 l4(�2 .( &4���)�� ��Y
 .$ Q���/� ������( �F$��2 .(
Yr = fr(Xr,�, . . . , Xr,mr), r = �, . . . , n.

WA�� &4���, S���/� �-�� 3���4� X�,�, . . . , Xn,mn �0��12 3���45�� .( �_)#� 6�

cov
(
f(Y�, . . . , Yk), g(Yk+�, . . . , Yn)

)

= cov
(
f ′(X�,�, . . . , Xk,mk

), g′(Xk+�, . . . , Xn,mn)
)
≤ �,

Q���/� �-�� 3���4� Y�, . . . , Yn .( ��F� U�� .$
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&"� ��\�> o
&4���, x�, . . . , xk �E4E; ����E� � {�, . . . , k} .
��+� 6� A�� A� 3�9+� 3��).
��+� ��6 3��$

WA��
P
(
Xi ≤ xi, i = �, . . . , k) ≤ P

(
Xi ≤ xi, i ∈ A�

)
P
(
Xj ≤ xj , j ∈ A�

)
,

�
P
(
Xi > xi, i = �, . . . , k) ≤ P

(
Xi > xi, i ∈ A�

)
P
(
Xj > xj , j ∈ A�

)
.

� A� .( )U�� .$ ._�2 �$ k� Q��$ �����,NOD W4G�, 3���� X�, . . . , Xk V�, ��f .$ .+4�� ��
Q����)�� J�*p� ��;�� .$ ����� U�� SNOD \��F2 .$ ._�2 �$ � ���/� �9+� 3).
��+���6 �� A�

&��', ��\�> o
Q��$ ����, �-�� 3���4� 94� #� .>�*����6 �� ���)#� S�A�$ �-�� 3���4� 3�).>�*�� ���

]@�	 ��\�> o
Q��$ ����, �-�� 3���4� SNE�/� �0��12 3���45�� 6� .
��+� i�

.T;Y� [�!% Z Uh���� � ��M��_ ����� 3).>�E� �� �� &+�� � ���=m ����� J�*p� J�4�9_
Q�4����

]U� ��\�> o
3��FG C$��2 f�, . . . , fm S���/� {�, . . . , k} 6� �9+� 3��).
��+���6 A�, . . . , Am �4�( ��0

&���� S��A�$ �-�� 3���4� X�, . . . , Xk � W*}�
E

m∏
i=�

fi(Xj , j ∈ Ai) ≤
m∏
i=�

Efi(Xj , j ∈ Ai)

Q&4�()�� ����$ m = � 3��$ �� .D$�� ����� Q��( ���-��� ��E��� 6� #��2)�� ����� U�� ����$ 3��$
.D$��m = l+� 3��$ &4��)�� #��� W��=� �� � W�� ���:�$ &
;m = l 3��$ &4�()�� ��0 ka�

&���� �-�� 3���4� W4G�, �$��$ k� Q��A)�� ���:�$
cov(f�(X�), f�(X�)) ≤ �,



�� �-�� 3���4� �0��12 3���45�� 3��)����� QrQ�

E(f�(X�).f�(X�))− Ef�(X�)Ef�(X�) ≤ �,

m = � : E[f�(X�)f�(X�)] ≤ Ef�(X�)Ef�(X�).

� X� �0��12 3���45�� 6� �9+� 3��).
��+� 3�� �$ ��A \��F2 �>�9��� C$��2 S��� ����� �$ ��$
QW�� ���:�$ &
; ����� m = � 3��$ k� S��$ �����, �-�� 3���4� W4G�, 3���� X�

QW�� ���:�$ m = l 3��$ &
; �4�( ��0 ��E��� .$ ��$
m = k : E

l∏
i=�

fi(Xj , j ∈ Ai) ≤
k∏

i=�
Efi(Xj , j ∈ Ai),

m = l + � 3��$ k�

E

l+�∏
i=�

fi(Xj , j ∈ Ai) = E(

l∏
i=�

fi(Xj , j ∈ Ai)fl+�) ≤ E

l∏
i=�

fi(Xj , j ∈ Ai)Efl+�

≤
l∏

i=�
Efi(Xj , j ∈ Ai)Efl+� =

l+�∏
i=�

Efi(Xj , j ∈ Ai).

3���4� �0��12 3���45�� 6� NE�/� 3��).
��+� 7���_� [�!% QUh���� � ��M��_Z]
0: ��\�> o
Q���/� �-�� 3���4� S�-��

3��$ Q���/� )NAW4G�, 3���� ���( �� .( ��A�$)�� NE�/� ��������$ Y � X �4�( ��0 *
����
� (X�, X�) �4�( ��0 Q�A�$)�� )NA W4G�, 3���� (X,Y ) &4�� #��� ���$ ����� U�� J�*p�
��� Q��A�$ ���]>� 3��FG C$��2 g � f � ���/� Y � X 6� ����]>� 3��6��0� l42�2 .$ (Y�, Y�)

WA�� &4���, S�A�$ Y� 6� ��g�)�)6���� �F$�2 E{f(X�, Y�)|Y�}

E{f(X�, Y�)|Y�, Y�} = E{f(X�, Y�)|Y�},

.$ �� �f�A ����� 3���4�� QW�� ���:�$ E{g(X�, Y�)|Y�} 3��$ �=$��� .D$�� l42�2 U4�� .$



�" �2���E� \���F2 Q�

U���$��$ Q���/� 3��FG .( &4��)�� #��� h�(Y�) � h�(Y�) �$ l42�2

E{f(X�, Y�)g(X�, Y�)} = E[E{f(X�, Y�)g(X�, Y�)|Y�, Y�}],

≤ E{h�(Y�), h�(Y�)} ≤ E{h�(Y�)}E{h�(Y�)}, [ Q�Z
= E{f(X�, Y�)}E{g(X�, Y�)},

⇒ cov(f(X�, Y�), g(X�, Y�)) ≤ �.

� ��A�$)�� (Y�, Y�) 6� NE�/� (X�, X�) .( W�� ���:�$ �_)#� 6� [ Q�Z .D$�� �� ?�� 3��/���
3����90� .+4�� �� Q���/� NA W4G�, 3���� (Y�, Y�) .( W�� ���:�$ N4>� U�� .$ ��� 3��/���
94� ��)#� 7���_� W��=� �� � ���/� �-�� 3���4� W4G�, 3���� Y � X 3��).>�*�� 6� ����]>�

Q��$ �����, �-�� 3���4�

rIQ���/� �-�� 3���4� 3����$�( ���/� �� &�-� � ��� ����� .( �4���� ._�2

�
����� ����RT D-3
6� �� ����� U�� W�� U
�� S&4�� v�$ �� �-�� 3���4� �0��12 3���45�� .( �2��G �� �4A�$ .�A�� W:�
3���4� ����� .( &4�()�� ����$ �� ���
� v�$ 3��$ &=� �
4�
2 3�F$ .4R: �� N4>� U�� .$ Q����$ W��

Q��()�� �-; �� �0��12 3���45�� #��$ �-��


+!� ��"�
, 
����� ����
 �� Xn, n ≥ N �
!- .�� /0120*�����3� � 4�3
5��&6 -3-D-3 �*RT
��� 7	�8� 9��: ;	� #� fn 
�<� an ≤ bn � an, bn ∈ R �� ���� '�&��( )�!���

fn(x) = anI(−∞,an)(x) + xI[an.bn](x) + bnI(bn,∞)(x), x ∈ R, n ∈ N

*��� �!���= 
+!� #��%3� Yn = fn(Xn) 
����� ����
 ��

3���45�� S�-�� 3���4� �0��12 3���45�� ��� ����� �$ ��$ � W�� �>�9��� fn(x), x ∈ R C$�2 *
����
Q��$ �����, �-�� 3���4� Yn = fn(xn), n ∈ N �0��12

rI



� 3��$��( 3���R: QIQ�

#� 6� ���-��� �$ .( W�� �-�� 3���4� �0��12 3���45�� nB*� �� &=� 3���R: 6� �
� 3�F$ .4R:
Q��� &4�F2 �-�� 3���4� �0��12 3���45�� 3��$ �� 8�9$ ���
� 3�: #���: #�h�� ��4���: #��2)��


+!� ��"�
, 
����� ����
 �� X�, . . . , Xn �
!- .�� /0120*�����3� � 4�3
5��&6 -B-D-3 �*RT
*�!��� ���<�� �	� ����������" x�, . . . , xn ∈ R �� � A ⊂ {�, . . . , n} #>�3?� �� ���� *�!���

P
( ⋂
k∈A

{Xk ≤ xk} ∩
⋂
k/∈A

{Xk < xk}
) ≤ ∏

k∈A
P{Xk ≤ xk}

∏
k/∈A

P{Xk < xk},

P
( ⋂
k∈A

{Xk ≥ xk} ∩
⋂
k/∈A

{Xk > xk}
) ≤ ∏

k∈A
P{Xk ≥ xk}

∏
k/∈A

P{Xk > xk}.

�� �-�� 3���4� �0��12 3���45�� ��� ����� 3��$ 3���� J�*p� &4�()�� ����$ .���� �� .( 3�).4R:
Q���)�� .����

����� � X�, . . . , Xn 
+!� ��"�
, 
����� ����
 �� ���� /0120*�����3� � 4�3
5��&6 -C-D-3 �*RT
*��� ����= ���<�� �	� �������" f�(x), . . . , fn(x) 
$�@"�" � 
+!��"

E
(
f�(X�) . . . fn(Xn)

) ≤ Ef�(X�) . . . Efn(Xn). [rQ�Z
'�&��( �!��� A%B� 
�
�C ���>� p�, . . . , pn � 
+!��" X�, . . . , Xn 
����� ����
 �� �&� D�= ��E #�

E(X�p� . . . Xn
pn) ≤ EX�p� . . . EXn

pn . [IQ�Z

���6 S���/� ������ [IQ�Z � [rQ�Z J���*
 �� W��� W�� ����� �4�� &4�()�� ��0 J�*p� 3��$ *
����
��:� gk,m = fk ∧ m C$��2 m ∈ N �� 3��$ Q��$ ����]� ���)��F� 3��/��� J�*p� J��G U�� �4e ��
����, ���:�$ ��6 3��/��� S�-�� 3���4� 3���45�� \��F2 �$ ��$ QW�� �>�9��� � ���)#��( Sk = �, . . . , n

Q��$

E
(
g�,m(X�) . . . gn,m(Xn)

)
≤ E

(
g�,m(X�) . . . gn−�,m(Xn−�)

)
Egn,m(Xn)

≤ . . . ≤ Eg�,m(X�) . . . Egn,m(Xn).

#���� W�� .$ 3��$ Q��$ ����, ���:�$ Sm −→ ∞ ��:� S���
� ������� .4R: .$ ��$ [rQ�Z 3��/��� ?�;
�T� �� fk(x) = I[�,∞](x)|x|pk Sk = �, . . . , n 3��$ S[rQ�Z 3��/��� �� W�� �0�( [IQ�Z 3��/���

Q&���� W�� .$ �� 3��/��� ��;�� .$ � &��4�$


